® ®

LR

#4 Pan Head
Sheet Metal Screw

+

#4 Pan Head
. Sheet Metal Screw
I

__ __

#2-56 Pan Head #6 Pan Head
Machine Screw  Machine Screw

|
@) - ~ _ =
' @ #6 Pan Head

Machine Screw

110mm

1!

M3 Pan Head
Machine Screw

16mm

|

M4 Pan Head
Machine Screw

#4 Flat Washer M4 Flat Washer

1/4-20 T-Slot Nut

#6 Pan Head
Sheet Metal Screw

Aw

#4-40 Flat Head
Machine Screw

il

1/4-20 Button Head
Cap Screw

©

#6-32 Nylon Insert
Lock Nut

@

-©@)-
ill
8

#10-32 Socket Head
Cap Screw

b @

#4-40 Blind T-Nut

R4ZZ Ball Bearing



	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View11
	Drawing View12
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View19
	Drawing View20
	Drawing View21
	Drawing View22
	Drawing View23
	Drawing View24
	Drawing View25
	Drawing View26
	Drawing View27
	Drawing View28
	Drawing View29
	Drawing View30
	Drawing View31
	Drawing View32
	Drawing View33
	Drawing View34
	Drawing View35


